GiVen: G is the center of the circle
AD is a diameter, mAB = 78,
mFE = 105°, mED = 27°, mCD = 42°

m«1 =

ms2 =

mz3 =

mz4 =

m«5 =

mz6 =

m«£7 =

m«8 =

mz9 =

m«10 =

ms11 =

Find each angle measuire!

ms12 =
m«13 =
m/14 =
m«15 =
m«16 =
ms17 =
m«18 =
m«19 =
m«£20 =

ms21 =
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Name: Geometry
Date: Per: Unit 10: Circles

Quiz 10-2: Inscribed Angles, Tangents, Angle & Arc Measures

/_\ o /_\ o le] .
1. Incircle P, if mQR = 110, mRS = 94, and m«£QRT = 27, find each measure.

R
a) mzQTR = d) mZTRS = 0 ,

b) mZROS = e)m/OSR=___ }

c) mTS = f) m/Q?= d ‘

For questions 2-5, find each value or measure.
A

2. x= (‘ 3. mABC= a6 ze)
L

C B
/ e i/

(9x + 40)°
/N N D
4. mWX = (6x—7) " 5. m/DGF = (8x - 31)°
4 (4x + 7’ E
G
Y X F
(10x — 47)°

6. In which of the following diagrams is @ tangent to circle §? Circle the best answer.
B. &_ 108 © C.

§

T
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Name: Geometry
Date: Per: Unit 10: Circles

Quiz 10-2: Inscribed Angles, Tangents, Angle & Arc Measures

1. Incirde P, if m@: 110°, MRS = 94°, and m£QRT = 27°, find each measure,

a)ymzOTR = 5_6 d) msTRS = 5_|° 0
b) mARQS= L] -, ) e) mLQSR = 56 ’ 6‘4
c)mffg\= )020 f)ﬂ@?=io

For questlons 2-5, find each value or measure,

2. x= I 3. mABC=_0O 1 (16x — 26) \
2(82)= O +HO b 215X+ u) loX -2 h;
lelp= AYHHD 10X +22 = lb¥X -2b

12l =AY, (Brv oy HE = bX 5(s>+u
]L'l =X X =¢ =5|
4, mWX— 'D[ﬂp (6 =7) W 8. m/ZDGF = 756 R (8= 317
X7 = 10w -7 V2x-24 =lgp @2 ]
0= 2 =204 /
" Gox- a7y X=11
et -3 =715

6. In which of the following diagrams is -QT? tangent to circle S? Circle tht?t best answer,

kM08 ¢ C. r
v \
I
1 #4192 = 267 (2.4249.82= )52
Q24122252 '4‘4; ;",’_‘22 ;]92 551 bas 2448 4225
52
208 225
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